Mc Graw Hill

Because learning changes everything.

QUOTE PREPARED FOR:

Browning Pub Sch Dist 9 129 1ST AVE SE BROWNING, MT 59417 ACCOUNT NUMBER: 299321

CONTACT:

Rebecca Rappold rebeccar@bps.k12.mt.us (406) 338-2715

SUBSCRIPTION/DIGITAL CONTACT:

Rebecca Rappold rebeccar@bps.k12.mt.us (406) 338-2715

SALES REP INFORMATION:

Brent Brandmayr brent.brandmayr@mheducation.com

Section Summary		Value of All Materials	Free Materials	Product Subtotal
StudySync ELA (C) 2021 - Grade 6		\$25,774.05	(\$1,764.75)	\$24,009.30
StudySync ELA (C) 2021 - Grade 7		\$25,774.05	(\$1,764.75)	\$24,009.30
StudySync ELA (C) 2021 - Grade 8		\$25,774.05	(\$1,764.75)	\$24,009.30
StudySync ELA (C) 2021 - Grade 9		\$25,774.05	(\$1,764.75)	\$24,009.30
StudySync ELA (C) 2021 - Grade 10		\$25,774.05	(\$1,764.75)	\$24,009.30
StudySync ELA (C) 2021 - Grade 11		\$27,577.80	(\$1,764.75)	\$25,813.05
StudySync ELA (C) 2021 - Grade 12		\$27,577.80	(\$1,764.75)	\$25,813.05
Professional Development		\$7,000.00	(\$7,000.00)	\$0.00
	PRODUCT TOTAL*	\$191,025.85	(\$19,353.25)	\$171,672.60
	ESTIMATED S&H**			\$4,729.46
	ESTIMATED TAX**			\$0.00
	GRAND TOTAL*			\$176,402.06

* Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

Comments:

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER:

SEND ORDER TO:

04/11/2023 BMAYR-04112023021122-001 ACCOUNT NAME: Browning Pub Sch Dist 9 ACCOUNT #: 299321



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
StudySync ELA (C) 2021 - Grade 6					
STUDYSYNC CORE ELA GR6 DIGITAL SE BNDL 5 YR SUBSCRIPTION PLUS 2 NOVELS	978-0-07-691131-8	185	\$108.15	\$0.00	\$20,007.75
STUDYSYNC CORE ELA GRADE 6 READING AND WRITING COMPANION UNITS 1-6	978-1-94-973916-9	185	\$21.63	\$0.00	\$4,001.55
Teacher Resources					
STUDYSYNC CORE ELA GR6 COMMON CORE TE PACKAGE VOLUMES 1 AND 2	978-0-07-692098-3	5	\$182.76	\$913.80	*Free Materials
STUDYSYNC CORE ELA CCSS TEACHER ONLINE 5 YEAR SUBSCRIPTION GRADE 6	978-0-07-906975-7	5	\$143.16	\$715.80	*Free Materials
STUDYSYNC CORE ELA GRADE 6 UNIT POSTER SET	978-1-97-012663-1	5	\$27.03	\$135.15	*Free Materials
	Теа	cher Resou	urces Subtotal:	\$1,764.75	\$0.00
	StudySync ELA (C	;) 2021 - Gr	ade 6 Subtotal:	\$1,764.75	\$24,009.30
StudySync ELA (C) 2021 - Grade 7	-				
STUDYSYNC CORE ELA GR7 DIGITAL SE BNDL 5 YR SUBSCRIPTION PLUS 2 NOVELS	978-0-07-691134-9	185	\$108.15	\$0.00	\$20,007.75
STUDYSYNC CORE ELA GRADE 7 READING AND WRITING COMPANION UNITS 1-6	978-1-94-973917-6	185	\$21.63	\$0.00	\$4,001.55
Teacher Resources	•				
STUDYSYNC CORE ELA GR7 COMMON CORE TE PACKAGE VOLUMES 1 AND 2	978-0-07-692099-0	5	\$182.76	\$913.80	*Free Materials
STUDYSYNC CORE ELA CCSS TEACHER ONLINE 5 YEAR SUBSCRIPTION GRADE 7	978-0-07-906976-4	5	\$143.16	\$715.80	*Free Materials
STUDYSYNC CORE ELA GRADE 7 UNIT POSTER SET	978-1-97-012664-8	5	\$27.03	\$135.15	*Free Materials
	Tea	cher Resou	Irces Subtotal:	\$1,764.75	\$0.00

StudySync ELA (C) 2021 - Grade 7 Subtotal:

\$1,764.75

\$24,009.30

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 04/11/2023 BMAYR-04112023021122-001 ACCOUNT NAME: Browning Pub Sch Dist 9 ACCOUNT #: 299321



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
StudySync ELA (C) 2021 - Grade 8					
STUDYSYNC CORE ELA GR8 DIGITAL SE BNDL 5 YR SUBSCRIPTION PLUS 2 NOVELS	978-0-07-691135-6	185	\$108.15	\$0.00	\$20,007.75
STUDYSYNC CORE ELA GRADE 8 READING AND WRITING COMPANION UNITS 1-6	978-1-94-973918-3	185	\$21.63	\$0.00	\$4,001.55
Teacher Resources					
STUDYSYNC CORE ELA GR8 COMMON CORE TE PACKAGE VOLUMES 1 AND 2	978-0-07-692106-5	5	\$182.76	\$913.80	*Free Materials
STUDYSYNC CORE ELA CCSS TEACHER ONLINE 5 YEAR SUBSCRIPTION GRADE 8	978-0-07-906977-1	5	\$143.16	\$715.80	*Free Materials
STUDYSYNC CORE ELA GRADE 8 UNIT POSTER SET	978-1-97-012665-5	5	\$27.03	\$135.15	*Free Materials
	Теа	cher Resou	urces Subtotal:	\$1,764.75	\$0.00
	StudySync ELA (C	;) 2021 - Gr	ade 8 Subtotal:	\$1,764.75	\$24,009.30
StudySync ELA (C) 2021 - Grade 9					
STUDYSYNC CORE ELA GR9 DIGITAL SE BNDL 5 YR SUBSCRIPTION PLUS 2 NOVELS	978-0-07-691292-6	185	\$108.15	\$0.00	\$20,007.75
STUDYSYNC CORE ELA GRADE 9 READING AND WRITING COMPANION UNITS 1-6	978-1-94-973919-0	185	\$21.63	\$0.00	\$4,001.55
Teacher Resources	•	-			1
STUDYSYNC CORE ELA GR9 COMMON CORE TE PACKAGE VOLUMES 1 AND 2	978-0-07-692186-7	5	\$182.76	\$913.80	*Free Materials
STUDYSYNC CORE ELA GRADE 9 CCSS TEACHER ONLINE 5 YEAR SUBSCRIPTION	978-0-07-907069-2	5	\$143.16	\$715.80	*Free Materials
STUDYSYNC CORE ELA GRADE 9 UNIT POSTER SET	978-1-97-012666-2	5	\$27.03	\$135.15	*Free Materials
	Tea	cher Resou	Irces Subtotal:	\$1,764.75	\$0.00

StudySync ELA (C) 2021 - Grade 9 Subtotal:

\$1,764.75

\$24,009.30

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 04/11/2023 BMAYR-04112023021122-001 ACCOUNT NAME: Browning Pub Sch Dist 9 ACCOUNT #: 299321
 EXPIRATION DATE:
 05/26/2023

 PAGE #:
 3



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
StudySync ELA (C) 2021 - Grade 10					
STUDYSYNC CORE ELA GR10 DIGITAL SE BNDL 5 YR SUBSCRIPTION PLUS 2 NOVELS	978-0-07-691296-4	185	\$108.15	\$0.00	\$20,007.75
STUDYSYNC CORE ELA GRADE 10 READING AND WRITING COMPANION UNITS 1-6	978-1-94-973920-6	185	\$21.63	\$0.00	\$4,001.55
Teacher Resources					
STUDYSYNC CORE ELA GR10 COMMON CORE TE PACKAGE VOLUMES 1 AND 2	978-0-07-692187-4	5	\$182.76	\$913.80	*Free Materials
STUDYSYNC CORE ELA GRADE 10 CCSS TEACHER ONLINE 5 YEAR SUBSCRIPTION	978-0-07-907072-2	5	\$143.16	\$715.80	*Free Materials
STUDYSYNC CORE ELA GRADE 10 UNIT POSTER SET	978-1-97-012667-9	5	\$27.03	\$135.15	*Free Materials
	Теа	cher Resou	rces Subtotal:	\$1,764.75	\$0.00
	StudySync ELA (C)	2021 - Gra	de 10 Subtotal:	\$1,764.75	\$24,009.30
StudySync ELA (C) 2021 - Grade 11					
STUDYSYNC CORE ELA GR11 DIGITAL SE BNDL 5 YR SUBSCRIPTION PLUS 2 NOVELS	978-0-07-691299-5	185	\$108.15	\$0.00	\$20,007.75
STUDYSYNC CORE ELA GR 11 READING AND WRITING COMPANION SGL BIND SET V1 V2 SEWKBK	978-0-07-702172-6	185	\$31.38	\$0.00	\$5,805.30
Teacher Resources					
STUDYSYNC CORE ELA GR11 COMMON CORE TE PACKAGE VOLUMES 1 AND 2	978-0-07-692191-1	5	\$182.76	\$913.80	*Free Materials
STUDYSYNC CORE ELA GRADE 11 CCSS TEACHER ONLINE 5 YEAR SUBSCRIPTION	978-0-07-907074-6	5	\$143.16	\$715.80	*Free Materials
STUDYSYNC CORE ELA GRADE 11 UNIT POSTER SET	978-1-97-012668-6	5	\$27.03	\$135.15	*Free Materials
	Tea	cher Resou	rces Subtotal:	\$1,764.75	\$0.00

StudySync ELA (C) 2021 - Grade 11 Subtotal:

\$1,764.75

\$25,813.05

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 04/11/2023 BMAYR-04112023021122-001 ACCOUNT NAME: Browning Pub Sch Dist 9 ACCOUNT #: 299321

EXPIRATION DATE:	05/26/2023
PAGE #:	4



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
StudySync ELA (C) 2021 - Grade 12					
STUDYSYNC CORE ELA GR12 DIGITAL SE BNDL 5 YR SUBSCRIPTION PLUS 2 NOVELS	978-0-07-691300-8	185	\$108.15	\$0.00	\$20,007.75
STUDYSYNC CORE ELA GR 12 READING AND WRITING COMPANION SGL BIND SET V1 V2 SEWKBK	978-0-07-702173-3	185	\$31.38	\$0.00	\$5,805.30
Teacher Resources	•			•	
STUDYSYNC CORE ELA GR12 COMMON CORE TE PACKAGE VOLUMES 1 AND 2	978-0-07-692192-8	5	\$182.76	\$913.80	*Free Materials
STUDYSYNC CORE ELA GRADE 12 CCSS TEACHER ONLINE 5 YEAR SUBSCRIPTION	978-0-07-907076-0	5	\$143.16	\$715.80	*Free Materials
STUDYSYNC CORE ELA GRADE 12 UNIT POSTER SET	978-1-97-012669-3	5	\$27.03	\$135.15	*Free Materials
	Teac	her Resou	rces Subtotal:	\$1,764.75	\$0.00
	StudySync ELA (C) 2	021 - Grad	de 12 Subtotal:	\$1,764.75	\$25,813.05
Professional Development					
LANGUAGE ARTS STAFF DEVELOPMENT	978-0-02-245712-9	2	\$3,500.00	\$7,000.00	*Free Materials
	Professiona	I Develop	ment Subtotal:	\$7,000.00	\$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER:

04/11/2023 BMAYR-04112023021122-001 ACCOUNT NAME: Browning Pub Sch Dist 9 ACCOUNT #: 299321



QUOTE PREPARED FOR:

Browning Pub Sch Dist 9 129 1ST AVE SE BROWNING, MT 59417 ACCOUNT NUMBER: 299321

CONTACT:

Rebecca Rappold rebeccar@bps.k12.mt.us (406) 338-2715

SUBSCRIPTION/DIGITAL CONTACT:

Rebecca Rappold rebeccar@bps.k12.mt.us (406) 338-2715

Comments:

Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mhecoast2coast.com).

School Purchase Order Number:

Name of School Official (Please Print)

Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 04/11/2023 BMAYR-04112023021122-001 ACCOUNT NAME: Browning Pub Sch Dist 9 ACCOUNT #: 299321

GRAND TOTAL	\$176,402.06
ESTIMATED TAX**	\$0.00
ESTIMATED SHIPPING & HANDLING**	\$4,729.46
PRODUCT TOTAL*	\$171,672.60
FREE MATERIALS	(\$19,353.25
VALUE OF ALL MATERIALS	\$191,025.85